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In this article the strong consistent estimate of the parameter θ by the observations of the random
process X(t) = θξ(t) + η(t), t ∈ [0, 1], where ξ(·), η(·) are the random process with the increments
of the K1 class, by using the Baxter sums is constructed. The non asymptotic confidence intervals
are found.
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ΔpX (tk) =

p∑
i=0

(−1)iCi
pX (tk + (p− i)h)

" �&#�� p ≥ 2/ #� h = tk+1−tk
p

, 0 ≤ k ≤ n − 1;C i
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an
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]
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j
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2 + Eξ2kEξ2j , 0 ≤ k, j ≤ an − 1. &'(

)�����
��� "� ���� $ ���
��
��% �
����!�%�� ��� ��
����
� �
�������#� ����
���� η(t)� ����� r(t, s) t, s ∈ [0, 1] �����	
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E (ξ(s)− ξ(0))2 = cs2H +O
(
s2H+δ

)
, s→ 0 + .

���� ����! ����� β > 2H ����� "�-

E (ξ(s)− ξ(0))2 = O
(
sβ

)
, s→ 0 + .

���� 0����
��
��� *����
� r(t, s) t, s ∈ [0, 1] �
�������#� ������� ξ(t), t ∈ [0, 1]
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 t �= s 
∣∣∣∣∂r(t, s)∂t∂s

∣∣∣∣ ≤ L

|t− s|2−2H ,

�� L 1 ������� ������
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�������#� ������� η(t), t ∈
[0, 1] � ����
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�������#� ������� {X(t), t ∈
[0, 1]}

Sn = a2H−1n

an−1∑
k=0

X2
k n ≥ 1.
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��� �
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θn =

√
Sn(X)

c
, n ≥ 1
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� θ ∈ [0, d] �� ������
�&������ ��'

��	
���(� �
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Sn(η) = a2H−1n

an−1∑
k=0

η2k → 0 ���
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Sn(ξ) = a2H−1n

an−1∑
k=0

η2k → c �#�
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lim
n→∞

ESn(η) = 0. �,�

+���	��

ESn(η) = a2H−1n E

(
an−1∑
k=0

η2k

)
= a2H−1n anEη20 = a2Hn O

(
1

aβn

)
→ 0, n→∞,

����(&�
 β > 2H� +
(��

VarSn(η) = ES2
n(η)− (ESn(η))

2 = a4H−2n

an−1∑
k,j=0

(
E

(
η2kη

2
j

)− Eη2kEη2j
) ≤

≤ 2a4H−2n

an−1∑
k,j=0

(E (ηkηj))
2 ≤ 2a4H−2n

an−1∑
k,j=0

Eη2kEη2j =

= 2a4H−2n a2n
(
Eη20

)2
= 2a4Hn O

(
1

a2βn

)
= O

(
1

a
2(β−2H)
n

)
, n→∞.
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∑∞
n=0 VarSn(η)� 6��� Sn(η)−
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lim
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ESn(ξ) = c. �7�
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ESn(ξ) = a2H−1n E

(
an−1∑
k=0

ξ2k

)
= a2H−1n an

(
c

a2Hn
+O

(
1

a2H+δ
n

))
=
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= c+O
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1

aδn

)
→ c, n→∞.
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���� VarSn(η)


VarSn(ξ) ≤ 2a4H−2n

an−1∑
k,j=0

(Eξkξj)
2 .

������� ���� � 	����� ������� ��������� �
��������� ��� ����� ���
�� �������
�
�� �������
 ��� ���� |k − j| ≤ 2 � |k − j| > 2 

an−1∑
k,j=0

(Eξkξj)
2 =

an−1∑
k,j=0,
|k−j|≤2

(Eξkξj)
2 +

an−1∑
k,j=0,
|k−j|>2

(Eξkξj)
2 . !"#

$�������� �������� � ����
∑an−1

k,j=0,
|k−j|≤2

(Eξkξj)
2 ������%& 5an − 4� '��������%�� ��

��(���� ������� ��&� ���� �
�������� $�)��*������������
 ������&�� 

an−1∑
k,j=0,
|k−j|≤2

(Eξkξj)
2 ≤

an−1∑
k,j=0,
|k−j|≤2

Eξ2kEξ2j = (5an − 4)
(
Eξ20

)2 ≤

≤ 5an

(
c

a2Hn
+O

(
1

a2H+δ
n

))2

= O

(
1

a4H−1n

)
, n→∞. !+#

��� ������ ����
∑an−1

k,j=0,
|k−j|>2

(Eξkξj)
2 ��������&���� ���
 ,� ��� ��������� [t, t +

h], [s, s+ h] ⊂ [0, 1] -
� �	������ ������)��� �����

E (ξ(t+ h)− ξ(t)) (ξ(s+ h)− ξ(s)) = r(t+ h, s+ h)− r(t, s+ h)−

−r(t+ h, s) + r(t, s) =

t+h∫
t

du

s+h∫
s

∂2r(u, v)

∂u∂v
dv.
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 ��� |k − j| > 2 ��&�� 

|Eξkξj| ≤
(k+1)
an∫
k
an

du

(j+1)
an∫
j
an

∣∣∣∣∂2r(u, v)

∂u∂v

∣∣∣∣ dv ≤ L

(|k − j| − 1)2−2H
· a2−2Hn

1

a2n
=

=
L

(|k − j| − 1)2−2H
· 1

a2Hn
.

��(


an−1∑
k,j=0,
|k−j|>2

(Eξkξj)
2 ≤

an−1∑
k,j=0,
|k−j|>2

L2

(|k − j| − 1)4−4H
· 1

a4Hn
=
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an−1∑
l=3

(an − l)
L2

(l − 1)4−4H
· 1

a4Hn
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⎧⎪⎪⎪⎨
⎪⎪⎪⎩
O

(
1

a4H−1
n

)
, 0 < H < 3

4
,

O
(

ln an
a4H−1
n

)
, H = 3

4
,

O
(

1
a2n

)
, 3

4
< H < 1

���

��� n→∞� �	 
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VarSn(ξ) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
O

(
1
an

)
, 0 < H < 3

4
,

O
(

ln an
an

)
, H = 3

4
,

O
(

1

a
4(1−H)
n

)
, 3

4
< H < 1
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∑∞
n=1 VarSn(ξ) 	 �!
��� "
#� Sn(ξ) − ESn(ξ) → 0 	 �#
���
��$%
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��� ��� n→∞� &��'
��%(� �)�� 
$��#��#
 �*��
���� "���� �
����#
� �


Sn(X)→ cθ2

��� n→∞� +��#
,

Sn(X) = a2H−1n

an−1∑
k=0

X2
k = a2H−1n

an−1∑
k=0

(θξk + ηk)
2 =

= θ2Sn(ξ) + Sn(η) + 2θa2H−1n

an−1∑
k=0

ξkηk.

-�$�

�� �
��

� ���#�� �
 
��� 	 �#
���
��$% 
��
��� ��� n→∞� .���

�

a2H−1n

∣∣∣∣∣
an−1∑
k=0

ξkηk

∣∣∣∣∣ ≤
√√√√a2H−1n

an−1∑
k=0

ξ2k · a2H−1n

an−1∑
k=0

η2k → 0

	 �#
���
��$% 
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��� ��� n→∞� -$!��

Sn(X)→ cθ2

	 �#
���
��$% 
��
��� ��� n→∞� 	����� �������� $����!�

� $�
��#��
�� ������� �	
����
� �
� ������
�� θ� .�� �
 ��
�� �
���(�' �
$����/

��� ��� ����#�$�� θ 	�
 �#
 $��� �
��$�
�� �������

�,

��� &�����
�� ��
���� {ξ(t), t ∈ [0, 1]}; {η(t), t ∈ [0, 1]} �	 �$���

��
�#� ���/
�
�$�#� ����� K1 
�	���!
��

����� .�� �����' �$���' c > 0, δ > 0, q ≥ 0� ����#�$�� H ∈ (0, 1)� ������!��/
$��� 
����
��$�, ∣∣E (ξ(s)− ξ(0))2 − cs2H

∣∣ ≤ qs2H+δ

��� ���' s ∈ (0, 1)�
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��������	�
�� ���
�� 	 ��
�� 
�������	�� ������ ��

����� ��� ������ 	
���� b > 0, β > 2H �
�����
� H ∈ (0, 1) ���������� �

��
������ ������ 	
�������
�	� �������	
��∣∣E (η(s)− η(0))2

∣∣ ≤ bsβ

��� �	�� s ∈ (0, 1) 

!��
������ �"#� ����$��
�	� %�� ���� &� ��'�( %���
�) �� 
��
�����
�����) ��*�� ��
����+
� 
��
������ �"��) �"*� ���
(����( ,��	���(� 
��
�-
����� �"�) �� .� ��
����� �� ���	
��(	
�� ��
���(��� ���
(��� ���	� K �K1�)
��
���(��� 
�(.�	 {X(t), t ∈ [0, 1]} ��� 
���(	
� ���	� K1 

/
(��
�� 
(%�����( �(������ ��
����� ��� cθ2 0�������() �(∣∣Sn(X)− cθ2
∣∣ ≤ |Sn(X)− ESn(X)|+ ∣∣ESn(X)− cθ2

∣∣ .
���'�� �(���(� 
���(1 ��	
��� .��1 ������(	
� � ��
�����(���(+ �������(+ 
2.����( �('( �������∣∣ESn(X)− cθ2

∣∣ = ∣∣E (
θ2Sn(ξ) + Sn(η)

)− cθ2
∣∣ ≤ θ2 |ESn(ξ)− c|+ ESn(η) =

= θ2
∣∣a2H−1n anEξ20 − c

∣∣+ ESn(η) = θ2a2Hn

∣∣∣∣Eξ20 −
c

a2Hn

∣∣∣∣+ a2H−1n anEη20 ≤

≤ d2 · a2Hn · q · 1

a2H+δ
n

+
b

aβ−2Hn

=
qd2

aδn
+

b

aβ−2Hn

=: Δn.

,��	���(� ������(	
� 3�%�$(��)

P {|Sn(X)− ESn(X)| > ε} ≤ VarSn(X)

ε2
.

4� 
��
������ �"� ��
�����) �( ��
���(�� �������� Sn(ξ), Sn(η) ��������� �

(��

VarSn(X) = θ4VarSn(ξ) + VarSn(η). �5�

2.����( ������ �(��� � ��	
��	�� VarSn(ξ),VarSn(η) &� � � 
(
������(�� 
��-
�
�)

VarSn(η) ≤ 2a4H−2n

an−1∑
k,j=0

(Eηkηj)
2 ≤ 2a4H−2n

an−1∑
k,j=0

(
Eη20

)2
= 2b2a2(2H−β)n , ��6�

VarSn(ξ) ≤ 2a4H−2n

an−1∑
k,j=0

(Eξkξj)
2 . ����

&� � � �(������� 
�(���� �) �(��%���( 	��� � 
����� ��	
��� ������(	
� ���� ��
��� 	����

an−1∑
k,j=0

(Eξkξj)
2 =

an−1∑
k,j=0,
|k−j|≤2

(Eξkξj)
2 +

an−1∑
k,j=0,
|k−j|>2

(Eξkξj)
2 .
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�����
an−1∑
k,j=0,
|k−j|≤2

(Eξkξj)
2 ≤ (5an − 4)

(
Eξ20

) ≤ 5an(c+ q)2
1

a4Hn
. ���	


����
���� �������� ������������� ��	�

an−1∑
k,j=0,
|k−j|>2

(Eξkξj)
2 ≤ 2L2

an−1∑
l=3

(an − l)
1

(l − 1)4−4H
· 1

a4Hn
≤

≤ 2L2a1−4Hn

an−1∑
l=3

1

(l − 1)4−4H
· 1

a4Hn
≤ 2L2a1−4Hn Cn(H), ���	

��

Cn(H) =

⎧⎪⎨
⎪⎩
ζ (4− 4H) , 0 < H < 3

4
,

ln an, H = 3
4
,

a4H−3
n

4H−3 ,
3
4
< H < 1,

���	

ζ(y) =
∑∞

n=1
1
ny , y > 1� ��� ! � ��!�

VarSn(ξ) ≤ 2a4H−2n

(
5a1−4Hn (c+ q)2 + 2L2a1−4Hn Cn(H)

)
=

=
2

an

(
5(c+ q)2 + 2L2Cn(H)

)
. ��"	

#$ %�����&� �'	� ��%�����&�( ��)	� ��"	 � �� ��*� +�

VarSn(X) ≤ 2d4

an

(
5(c+ q)2 + 2L2Cn(H)

)
+ 2b2a2(2H−β)n =: Bn(H).

,�-�( $���� ( %����� ����% 1− p� . %�����&� Bn(H)
ε2

= p $��-�� !�

ε =

√
Bn(H)

p
.

����

P
{
cθ2 ∈ (

max
(
0, cθ2n − ε−Δn

)
,min

(
cθ2n + ε+Δn, cd

2
))} ≥ 1− p,

$���� 

P {θ ∈ (ln, rn)} ≥ 1− p,

��

ln =

√
max

(
0, θ2n −

ε

c
− Δn

c

)
, rn =

√
min

(
θ2n +

ε

c
+

Δn

c
, d2

)
.
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� ���� ������ ������ ����� �����
������ �� !� 1− p " �!��
� �	�!���

Δn =
qd2

aδn
+

b

aβ−2Hn

, n ≥ 1;

Cn(H) =

⎧⎪⎨
⎪⎩
ζ (4− 4H) , 0 < H < 3

4
,

ln an, H = 3
4
,

a4H−3
n

4H−3 ,
3
4
< H < 1,

�� ζ(y) =
∑∞

n=1
1
ny , y > 1#

Bn(H) =
2d4

an

(
5(c+ q)2 + 2L2Cn(H)

)
+ 2b2a2(2H−β)n ;

ε =

√
Bn(H)

p
, n ≥ 1.

$	�! (ln, rn)� ��

ln =

√
max

(
0, θ2n −

ε

c
− Δn

c

)
, rn =

√
min

(
θ2n +

ε

c
+

Δn

c
, d2

)
,

�	�!�%�� !

���� � � ����&�
�� θ ' �!�
�& �	�!�� 1− p, p ∈ (0, 1)�

	� 
���
��� ����� YH(t), t ∈ R� �� ��	�
��	 H ∈ (0, 1)� � 
������
��
�	���� � �	�	����
� ����� K1 � ��
�	�������� ��������

rH(t, s) =
1

2

(|t|2H + |s|2H − |t− s|2H)
, t, s ∈ R.
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���� ��	�
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������
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�
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��  �����
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������ � ������ "#$%� &��
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�� �� �� 
��
��� 
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� � 
�������
��	�
��	 H �� 
����'�� �������'�� ����'����
�
�	�� 	�������� 
������
� �
�	����� YH(t), t ∈ R�

����� 
 ����'� �����
���( ξ(t) = Y1/2(t), η(t) = Y3/4(t), t ∈ R � ������!
��� 
������
� �	������ d = 1� �������
� an = 2n� �	�������( )*+� ),#+�
�'�
����� ��	�
�����-�(� �	�������( ).#/+ 
�������-�( �	� c = 1, q = 0�
).0/+ � �	� b = 1, β = 3

2
� ).$+ � �	� L = 0� ,�������� ���	�
� #� ��������!

�� θn =
√

Sn(X), n ≥ 1 � ���-�� ���1�������� ������ ��	�
��	� θ� 2��	�
� 0
���
��(� ��3���
��� ��
�	'�� ����	
��� 2��� ��( 	�
�( ��
�	� 4�5

Bn(H) =
12

an
, εn =

√
120

2n
,Δn =

√
1

2n
, n ∈ N;

(ln, rn)� ��

ln =
√

max (0, θ2n − ε−Δn), rn =
√

min (θ2n + ε+Δn, d2),
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